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Yunwpytjhp woluuwnwuputiph
hwdwnnun pimpwghpp
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gnuiwph swithp
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(hwq. npu)
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thnpawpuuneyuu
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1. Nnnguw hwiwlmpgblpnid hpuwmwy jmoémd yuwhwuynn wolummwiputp (pyniginmyht Swjuubiph mimbtuwghmnmwjuu nuuwlmpgiwmu <<Ghuptiph b
ohunipymuutiph juyhwmw) Jipwunpngmu b vwjpugdmhtimuwgnunujun dwjuutin>> hnnpjwdutipny), npnup vwjuwmbtuynid L hpuwiwmguty Yhpuntyng
<<Gunudutiph dmuhu>> ££ opbhiipny uwhvdwjwmd pwhwljguyhtt pupugulijupg’ wnwug gunutubinh hwywmwpupmpnip vwjuwytiu hpupwywpuyjtm qudu

alip

L1

<<[(duhu>> ROL

Cuptyh yndwyuluwywuh
Jtpwunpngnid

wnuiwywluywuh dwpuo B b hhnpn-
Ubfuwuhujuiu uvwppuynpnudfutinh
thnfuwiphunud inp uwppunpoufutpm]

57,344.6

100.0 819.7

Yuyyuwhnyh hm-
uwgh

oputiwnulju-
pupmu:
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1.2 | <<Ubpdwhwws>> | Cugljujuu hwdwjuph P-1 L-450g&d LR-80 wnhwh 34,802.0 1340.0 662.0 Yuuwwhnyh
200 pwdwuwpwph Jhuwjunnnjuljutipny opwugph Cugujuu
Jtpwunpngmu Jtpwunpngmu hwdwjuph 140
onoguwughnony-
ubtiph 75 hw
hnntiph nnngmudp:
LUVARUUGLE UNURPL AUGPY 92,146.6 1,440.0 1,481.7
2. Nnnquw hwdwlwpgbipnd hpwwnwy jmdnd yyuwhwuonn wojuwmwmuputip (<<Uy Juyhwwy ngpudwiunphulip>> hnpjwony)
Unuduwwnwiu 9/4 quymu | puypuy-
Jwd b Ypupuyghu yhtwymu:
Nniyuljuywuh hnnuyhu hmuny
unminbtigunn opwiugpp  Ubd fungspunnun L Yuwwhnyh
wnwowgunid puhwgnpdtiwu Unuyuwnniu
uélmqi?mmnm dg/ 4 duiwtnuly: Uthpudtom E junmgty 14,500.0 560.0 268.0 hunfuyuph 50
dtipwinpngnt unp ynlwwuywuh oup unnphu hw hnntiph
Cpwuqnuiuh opwugph Unn nnngnuip:
wytquguty 2190 L -350 U
2.1 <<luny>> ROL Utnunuijuin fjunnnyuijupuph
wnbmunpnuip:
nyuuudty  hundwyupnid inin 100 hw
hnnuunwpuoputp nnngyty tu Yuyuhnyh
funppuyhu hnpny b ubpununtuwg hu Znyununitiy
lhww funppwjht hnph onpwiugpny: Ujdd junppuyhu hnpp 10.756.4 Y, 13.6 hwdwjuph 60
Jtpwluugumu gudwpty b, munh wuhpudtiym SR ’ ’ onoguwgnponi-
Ytpujuuquty 1 hwn funppuyhu hnp, utinh 35 hw
atmp ptinty U wntmwnpty E84. -12-160-65 hnntiph nnngnidp:

funppuyhis uymiuy:
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Uundwunup hunfwjupnid nnnguwu
onipu wugumu £ nuundtpd hnnuunw-

nuodputinny b hundwjuph Jupswjuiu Yuuywhnyh
mnwpuopny, npu wnwwgund | ko Uwdwnup
lhwwm funppwjhu hnpbiph | ndjwpmpmuubn b oph Ubd ynpmuwn- 12,9725 500.0 155.4 hwdwjuph 55
Jtpujuuqumy utin oph ntmuithnfutiwu dunfwuwy: S ’ ) onogumwuignponn-
(Muwnh wuhpwdtpun E Uwdwunup utinh 35 hw
huniwgupmu ytpujuiuquty 1 hun hnntiph nnngnudp:
funppuyhiu hnp, Gtmp plipty b intmunpty
£84, -12-160-65 funppuyghu wynuuy
14 hunn junppuyhu Yuuhmjh
wniugtph dtmppbpnut b 14 hun £8, -12-160-65 junppuyhu 36,000.0 1680.0 600.0 hnuwgh opuiu-
C— wnudwbph dtmpptipmu b mbinunpnud -
wnuywuuywuutpmu swthhy uwppwynpmdutipny Yuyuwhnyh
unuhpnphugh hwdwlupgh | yuwhwynpmd b SCADA wnjujutiph hmuwyh opw-
wntmun unuhpnphugh hwdwlwupgh dwnwjupupmy,
ubipnpmu L} Fubipghuh
1,907.4 374 b b
hwpjunpuuiu
dwupnulh
pwpapugnu:
Yuyquhnyp
Luppung hudwjuph N 5 LJwnpung
funppuyhu hnph funppuyh hnph ybpujuuqumdy, 10.335.4 400.0 85.8 hunfwyuph 17
Jupuluigumu E84, -12-225-30 junppuwyhtu wynuwh T ' ) opoquugnNONI-
atmpptipmd b mbinunpmd utiph 27 hw
29 <<Unwuutin>> hnntiph nnngnudp:
200 Yuiyywhnyh
Luppung hwdwjuph N 7 LJwnpung
funppuyhu hnph funppuyhu hnph Yybpujuuqumdy, 10.190.6 400.0 82.9 hunfwyuph 42
Jpujuwuqumy E84, -12-225-30 junppuwyhu wynuwh U ' ’ onoguugnNdnI-
atmppbipnud b mbqunpmy utinh 38 hw
hnntiph nongnudp:
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Uuywhnyh
2uppung hwdwjuph N 8 Lywppung
funppuyhu hnph funppuyhu hnph ybpujuugqunmdy, 8.516.4 330.0 750 hwidwjuph 45
Jtpuuwuqumyd E84, -12-225-30 junppuwyhu wynuwh T ’ ' onogumwuignponn-
atmppbipnud b mbmunpmu utiph 39 hw
hnntiph nnngnup:
‘Lupu-Rwiu-2 22 'U'HJ yniwyuwihu wgptquunh Huguihndh ho-
yniywlwywuh stnpnbnnud b wbnwnnnd 10,000.0 200.0 uwh opudunw-
Jbpwunpngnid PRUI T Jupupmu:
Ujuuuhlpuwu hwdwjuph wnudyuwyhu vwppwynpdwu, Yuwwhnyh
<<N 3 puunwpuus>> Jqunuwjwpdiwu Juhwuwyh, 5.806.7 2512 710 Ujuuuhljwi
funppujhu hnpumwugph | dwynijuh, junnnuyutiph Gtmp- e ’ ’ hwdwyuph 15 hw
Jhpuwluugumud pipmd b mbinunpnud hnntiph nnngnudp:
Ujuiupluis huniuglph wnuuuhtu uwppuwynpiwy, Yuuyywhniyh
swhwgnpofw punminiuwu
Junujwpiwu yuhwiuwlh, dwynifuh, Ujwuuhlju
tupwlju <<Ohpwuwung>> 12,125.9 523.8 189.2
funnnywijubiph atmpptmy hundwjuph 25 hwu
unppuyfili hnputnuiugph wtmunnnud, hnpunwugph twppnud hnntiph nnngnup:
Jtipuljuwugumu ’
gt bl
23 | <<Chupy>>Rorp | AUHWGNROTUUE wnuiwuyht uwppuynpuwl atnp- Upwnunitin
tupwlu <<N 3 2pjuit>> 3,763.6 162.2 17.3
ptipnud b mbinunpnud huniwjuph 53 hu
funppuyhin hnpunuiugph hnntiph nnngnup:
Jtpuunpngnud '
Upunuitan hunfwyuph wnudyuwyht vwppwynpdwi, wmpuwuu- e~
owhwgnpofw punmudwu | $nplwnnpughu Bupwljuywuh, Junw- u ;lllw ihn
tupwlju <<N 4 tipuws>> Jupuwu Juhwuwlh, duymfuh, 17,155.0 740.7 232.6 P
huniwjuph 35 hu
[unppuyhu hnpunwiugph funnnijuljutiph dtmpptpnud i hnnbiph nongnup:
Yupnujuugund wtmunnnud, hnpunwugph twppnud '
Swyynphy huniwyjuph wnuwuyhu vwppwynmiwiy, R
owhwgnpdiw punmudw | mpuwiudnpiunnpuyhu Gupwjuywh, Swlil{n hy
bupwlu <<N 5>> Yununfumiwi Juhuwtnulh, o, 15,914.4 687.1 209.4 tan
hwdwjuph 50 hw
funppuyh hnpunwiigph funnnijutjutiph Gtmpptpond i hnnbph nnngnuip:
Yupuuiugunud wtmunpnud, hnpunwiugph twppnud '
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I hunn Junppughis hnph -

Yuuywhnyh
Juiugund dwpnuuuptiu hudwyupmu
Lhunn Junppughhnphe | p o' s dpu, BSUL-12-160- 10,952.7 421.0 168.9 clwpruiiwgtl
Jtpuuugunud hwidwjuph 60 hw
45 junppuyhtt wniyh dtmpptpnud b hnnliph nnngnudp:
wtmwnpnud nup gmup:
lhuwn funppughtthnph Ytpu- Yuuywhnyh
lhwuwn funppuyhu hnph Juiugumu Gnhiqunuwun hunfuyupnud, 13.910.0 535.0 176.8 Bnhqgumun
Jhpuuugund E84., -12-160-45 funppught wnuugh T ’ ' hwdwyuph 65 hw
atmpptinmu b ntmunpnud hnntiph nnngnudp:
lhwwm funppwjht hnph Jtpw- ——
I hun Junppuyhtt hnph Juuqund Gntqunin hwudwjupmu Brbaunin
24 | <<Ulgnip>>R00 fpupthngn (wluntthw), B8, -12-160-45 8,554.7 329.0 75.8 fa
Ybpuwluwugunmu hundwjuph 30 hw
funppuyhu wnuyh dinppipmy b hnnliph nnngnudp:
wbtimwnpmu i Anp:
LQuppnup-Gntqunin dwuwwwphh
Quippnup-Gntigunin dufu vwund <<Shingh dwn>> Em;qﬁiilqh
funppwyjht hnph funppuyhu hnph Yhpujuugqunid, 12,903.3 217.7 fG
hundwjuph 35 hw
Ybpuwluwugunmu E84, -12-160-45 fjunppuwyhu wynuwh hnntiph nnngnup:
atinppipnid U mbipunpmud i g
Gpwujuwhniu hwdwjuph <<Uynjh Yuyuhnyh
Gpuufjuwhmu funppuwjht | hnps> junppujhu hnph Ytipw- 10.456.7 163.4 Gpuujuwhnmu
hnph Ybpujuuqunmy Juuqund, £E84, -12-160-45 junppuyhu R ’ hwdwyuph 35 hw
wnuuyh dtmpplipnud b nbnunpnid hnntiph nnngnudp:
Luwwhmjh
“Unpuljtpun hw-
“Unpuilybpn hutwguph ‘Unputipun hwdwjuph nnnguw duuph 300
<<dunupyu- =530ud L=850 qou 9pwqoh
2.5 nnnguiwu ypwnwph 13,005.0 255.0 opogunwi-
wuwn>> ROC Ytpwunpngnud dbnmwnuljuu
Jbpwunpngnid funnnyulutipny] qnponnutmh 200
& R hw hnntph
nnngnup:
Uwjhywtu hwdwjuph funppuyhu Yuuwwhnyh
26 <<Upuiwyghp>> Uwjhuyjwu  funppuwjhu hnph Ybpujuugunmd, 129673 1348 Uwjhuyjuu
' 200 hnph Jtpuljugumud E84, -12-160-65 Tunppuwjhtu wynuuh T ’ hwiiwjuph 35 hw
atmpptipnud Ut mbinunpmd hnntiph nnngnudp:
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Swipnuhl hwdwjuphg 600

htnwynpmpjut ypw <<N 815 Yuuywhnyh
27 <<Ujuwht>> Swipnuhl Junppuyhu yuwjdwuwjuwu wujwunids>> 117263 148 Swpnuhy
) 0L hnph Ypujuugumyd funppwjhu hnph Yhpuuuguniy, o ’ hwiwjuph 35 hw
E84, -12-160-65 funppujhu wyniwh hnntiph nnngnup:
atmppbipnud b mbqunpmu
wndywlwjuwuubtpmu swthhy umppwynpmidutinny Luuywhnyh
unuhpnphugh Juwhwynpmu b SCADA wyjwjutiph hmuuyh opuniw-
hwdwlunpgh mtnunpnud | Unuhpnphugh hwdwlwunpgh nwljupupnud, k).
utinnpnid Eutipghugh
2.8 | <<Upwpu>> R0LC 2,774.4 54.4 rttnbunmt b
hwpyquplpiuu
dwupnulh
pupdpugnu:
Cuyujuit hunduwguph wnuuuyhli uwppuinpuiwd, wpuii- Ywwwhnyh
<<Punfpujuyun Guiw- $npuiwinnpuyh tupwuyuih, tu- Cuygujuu
nwjwunpdwu yuhwuwlh, duynfuh, 8,474.0 365.5 72.6
wuwph>> funppught hnpuw- hwdwjuph 30 hu
wmwiugph Ytpuuuqunud funnjwijutiph dtinpplipnul & hnntiph nnngnudp:
wmbtiunpnud, hnpunwugph dwppnud '
wniyuwht vwppwynpdwy, mpuuu-
Unplthy hwdwjuph dnpUwmnpuyhu Gupwuljuywh, Yuyywhniyh
2.9 <<Utpdwhwyws>> | <<dwphh>> funppught | junwyjwpdwu Juhwuwyh, 83816 361.8 63.4 Uplhl hwdwyuph
' 200 hnpuwwnwugph dwynifuh, junnnyuyutiph Gtinp- T ’ ) 25 hw hnntiph
Jtpuuugunud ptipnid b mbinunpnud, hnpuwmwugph nnngnuip:
Uwppmu
wnuiwuwht uvwppuynuiwl,
Sm&lémm huwiuyuph unpuitubnpUnAUH Hupuluuih, Yuyywhniyh
<<twpdhp fuwy>> unwuiniy uhwiubh, dwgnjuh, 8,387.5 361.8 69.3 swuanun
funppwyhu hnpuwnwugph funnnuuiljubiph atmppbpnu o hwdwjuph 30 hu
Jtpuuugunud e— hnntiph nnngnudp:
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Upunwywnh htinwgunn

N 36 pudwuwpwpu vyuwuwpynu §

onpwugph N 36 Uplipwn hwdwjuph muwdtinatiph Yuuywhnyh
pwdwuwpwnph 60 mnynup: Pudwuwpwph unp Unplywwn
ynmnuynpnud gnmnuynpdwu 400 vl L-400 qou 7,000.0 280.0 138.0 hunfwjuph 38 hw
tpupnipyudp junnnjuluywph hnnuwnwpwop-
Junnmguiwu niypnid Ynnngytin ubiph nnngnudp:
210 | <<Uquu>> 00 duugwd hmnjwodubipn:
Tuqup b Uquunujuu Tuqup-1 hwn b Uquunuwywu-1 hwun Luuywhnyh
hwdwjupubiph fu/y hwdwjupubiph ju/w danpptipnid Tuquph b
atmppbipnmd b mbnunpmud | nbnunpnid Uquunujuin
5,000.0 200.0 80.0 hunfuguputph 60
hw hnnuunwpuodp-
ubph nnngnup:
<<Upwquip-I>> b wnuuuluwywiiatph b & hhypodttu. Uuiywhnh
<<funp-ppuruy>> uwppurynpnifbiph 1 hwin 41600/90 Upiurp b bpuufu
wniwwluywuutph wmiwh, U 1hun b/pwpdhsh 16,640.0 640.0 330.0 hunfuyiputph
Ytpuunpngnul 800Uy 1000 wy/pnugt 64w hntuwgh gpuniw-
atmppbpmd b mbnuinpmd nwjupupnnd:
<<Upwpun >> | wntupubuywittpond sunthhy uwippunnpnuutyny tuguihngh
21 200 inuhpnphugh uhwynpnut L SCADA wnjurutiph hntuugh opuitiu-
hwdwlunpgh mbnunpnud | Unuhpnphugh hwdwlunpgh nwljupupnud, k).
ubipnpmd tutipghugh
9,644.1 189.1 b
hwpquplpiuu
dwupnulh
pupapugnu:
Jupnupbiu hwdwyuph Juwpnuybu hwdwjuph thwly opwuqoh Yuwuwuhnyp
thwl opwgdh Junnmgnud Junnmigmu H160ud L-630 gou Jwnnuptiu
tpyupnipyudp wnjhkphibuwhu huniwyuph 50
2.12 <<UIIL;1C1)12EUJLH>> funnnyjuyjutipny 9,500.0 380.0 186.0 onoguwgnponn-
utmh 50 hw hnnu-
wnupwoputph
nnngmuu:
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4. Upnmwowwn gpwugphg | thul opugdh Junmgmy “+-300ud Yuyquhnp
thwl] opwgdh Junmgmud b | tplptipn dwypwynp funnnyuljutipny L .Upunupwun b
M hu 9pwugphg uuynn L-2200 qou ‘Unpuptu
wnuyuluwjwuh dniuu thul opwgdh funmgnd ‘160 vl huniwyuputinh
funnnjwljupuph wnihtphitiuwht funnnjwlubipny 80 hw hnnuw-
Junnmgmy L-430 qou 80,000.0 3000.0 1386.0 wnwpwoputmph b
“Utipphu “WJhu
hundwjuph 30
poguugnony-
utmh 25 hw
nnngmup:
4 hwuwn junppuyhu 2 hun E84, 12-160-65 L1 2 huun E84Y, Gugwhnih hni-
wnuwtinh dtmppbpmu 12-160-100 junppuwyhtu wynuytiph 9,000.0 uwgh puniurnw-
atmpptipnud Yupupnud:
wniyuuyuuutpnud swrthhs uwppwynpnidutipnny Yuyywhnyh
unuhpnphugh hwudw- Juhwynpnid U SCADA wjjujutiph hmuuyh opw-
Jupgh wmbnunpnid unuhpnphugh hwdwlwnpgh dwnwjupupmy,
ubtipnpnd L. Eutinghuygh
3,406.8 66.8 tnbuni b
hwpjunpuuiu
twljupnuyh
pwpapugnu:
Snnujuith wndwwluywuh | wyndyuluwywuh skuph Yuyuwhnyh
Ytpuunpngmu tpjupeptinnyw dthouwwwnh Snnwyjuwuh
Jtpwunpngmu 4,770.0 93.5 wniywluwywuh
wufjuwthwiu
213 | <<dlmhs> 00 puhwignponuip:
' Uhuwjwuh wniuyuwluwywuh | Uhuwjwuh yndwwluywuh pbuph b Uuyuhnyh
Ytpuunpngmu muwdnuubtiph Yybpwunpngnid Uhuwjwuh
5,200.0 100.0 wndyuluwywuh
wufuwthwu
owhwgnpénuip:
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wndyuwlwjwuubtpmu swthhy uwppwynpmdutipny Yuyyuhnyh
unuhpnphugh Juwhwynpmu b SCADA wyjwjutiph hmuuyh opuniw-
hwdwlunpgh mbnunpnud | Unuhpnphugh hwdwlunpgh nwjupupnud, .
ultipnpnud Futipghugh
3,172.2 62.2 b
hwpjunpuuiu
dwjupnuih
pwpdpugnu:
<<Ofuwjununugnpd>> UL | <<'unp-fuwpptipnh>> 9/ ptiuph b Yuywhnyh ‘bnp
9/U-h yipwunpngnid wnwuhph Yypuunpngmu fuwupptinnh
<<Oluwjunnugnpo>> 9/ ptiuph b wdwnwungwhu
1. mt hhnpnubfuwuhujuu punuydwuh 70
uwppwynpnidfubiph  Yhpwunpngnud 3,238.0 1240 6L0 onoguugnNONI)-
ubtiph 6 hw
hnnuwnwpwop
utinh nnngnup:
‘unp fvwppbipnh “Unp fuupptipnh <<Upuqud-1>> 9/ Yuyyuhnmyh “unp
<<Upwquo-1>> 9/ L 1040 L-160 gou tpupmpjudp Ffuuppbinnh
<<Upwuquo-2>> 9/ Ui funnnjuljupwph Ytpuw- wdwnwungughu
Ytpwunpngnud unpngmud b <<Upuquid-2>> 9/ ptiuph punuiwuh 110
214 | <<Uwuhu>> R00L 1t b, m hhnpnubfuwtihlule wppu- 6,334.0 253.4 122.0 SpoqugnpONT-
Ynpmdutiph  Ytpuiunpngmud utiph 11 hw
hnnuunupuop-
ubtinh nongndp:
‘unp fuwpplipnh “Lnp fuuppbipnh <<Ujwuithjwth Yunyuwhmh Lnp
<<UJuuuhljuuh wujuiu wijuiu uhmyph $wpphljus> 9/4 fuwpptinnh
Yuhnyph $wpphlju>> b H1040d L-500 god tplupnipjudp wdwnwunguwhu
<<Umpp ppgws> 9/rtph | dndwiu fjunnnjujuywnph 11.000.0 440.0 210.0 punudwuh 110
Ytpwunpngmid <<Ujudihluuh wijwi Yuthnyph R ' ’ opoguugny-
dwpphus>> 9/ 104 il onnubiph 9 hw
L-500 gou bpjupmpyudip unuiwu hnnumwupwop-
funnnjuijuywph Ybpuunpngnud utiph nnngmup:
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“bnp fuwpptipnh <<19 vhle | “Lnp fJuwpptinnh 14 dhugh 17 thnnngutph Yuuwhnyh “bnp
17 thnnngutiph >> L opwqotph “H104-15910 fuwpptinnh
Supuytiun hwdwjuph L-250 qou unuwiu fjunnnyujupwuph wdwnwiungughu
3-pn upgh gpuiigpitph | Jtpuiinpngnud punuiiwuh b
Jtpuunpngmu Trupuytinun hudwyuph 3-pn Yupgh 8.100.0 324.0 158.0 Thupwybtpun
opwiugpubtinh puypuyyud hwumjudutiph T ' ’ hunfwyuph 350
L6 b/p Juptinh 204 gou opoquIugnnoONI-
wiunpngnud utinh 132 hw
Ytpwiinpng tph
hnnuunwupuop-
ubph nnngnup:
“tuppuhl hwdwupnud “huppuhl hwduyupnud 4 Y Yuyuhmjh
puguuwljuiu dupniny hgnpmpjudp hnphgnuuljuu wnduh “twuppuhy b
hupuwpwinpjuiunn hnptph | wbmungpnud Trupwltipun
Ynpw hnphgnuwljuu wniyh | ‘bnpudwpg hwdwyuph hupuw- 8.900.0 356.0 1740 hwdwjuph 185
wntmunpmu b ‘Unpunfwpg | punpyuiung hnphg 7200 Wt S ’ ’ onogumwuignponm-
hunfuyuph hupuwyw- L-450 qou wynihbphtuuwght fjunnnjulhg utinh 105 hw
wmpjuunn hnphg dnuwu unuwu fjunnnyujupuph Junmgnud hnnuwnwpwop-
funnnjujupwiph junmgmu ubiph nnngmudp:
Uppuwip huduyuph funp- Uppwie hwiwyuph funppuyht hnph Yunyuwhnih
puyht hnph Unuwu funnn- wn hkphituughu 4150 vd Uppwe hwduguph
Julupwph unmgnud L-700 gou tpjupmpjudp dnuwu 180 opoqunwu-
funnnjujuywnph Junnignid 9,400.0 376.0 180.0 gqnponnutiph 60 hw
hnnunwpuop-
utinh nnngmup:
YuwwhmJh Upma
huniwyuph 90
i wnuyp dupqud L, )
215 | <<Cwdbpud>> ) Upmoh &/th L.uwppunpnidubpp ulnp b 5,035.9 100.0 sroguuugnpony
200 Jtpwunpngnd thnjubi, obiuph hptwtnpngnud utinh 250 hw
> 2uup [ng hnnunuudp-
ubmh nongnudp:
Luwwhmjh
216 | <<@upuhs>> K00 Sgui‘ﬁhn?lfd@h ;14?3131{1;‘513 qﬁ’ ﬁgiﬁ”‘;j“ﬁ 1,500.0 28.0 hnuwh gpuu-
[uunnnag I 2upfl yupuunpng wwljupupnu:
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Znnuyhu hmuny opwugp, npu

Yuyyuhnyh

Aympuiluiuh spuiugph wugunid £ anph juuony duynwyhu b Sirllj 11111;2111111111;1(1) b
<<Udptinn>> Jhuwdwjnwihu wywnubiph thony b
217 Jtpuwunpngnid i ] 4,990.0 96.0 onpoguwgnp-
200 (Unthwiuhu wnm) niuh 50-60 wmnlnu $hjinpugu: snnutiph 200 hu
Uuhpwdtipn | ybpujuuquty dnn
L-250qou tplupnipjudp ptinnuny: hnnuinuipuiop-
utinh nnngmdp:
(Gwhu N 1, Uupujuuy Luuywhnyh
N 7 wnwohu wumhaw, Upghuw, Upuqusd,
Unptkg N7 tpypnpn yndyuuwyuwuubipmd $hghjuytiu b Uplig, (Guyh,
wuwmhauy, ‘twynwuntd, pupnuybtiu dwygwsd k. b Uiy, Htnuath
SGtnuth, Uuh b Upwqué- | hhppndbjuwuhuljuu 27,200.0 320.0 Uuh Ntndqua
L2 yndwywluwwuutinh uwppwynpnidutipnh, hudwjuputiph 1207
unpngmd Undytuuwwnnpubiph Yytpuwunpngnid opoquugnhnon-
utmh 2485 hw
hnntinh nnngmup:
Yupwywanp huduyuph Yupwywanp hudwjuph opudpwuph
spwudpwph oppnn oppnn thwljwuh 800Uy sh gnponid, Yuwwhnyh
218 | <<uhu>> ROC |\ iuh Jiputnpng | wyt swpny E b whowh st 1,200.0 24.0 hntuwh spuniu-
owhwgnpddwl, hwpluynp L unph nwuwpupniy:
wmbnunpmy:
wndyulwjwuubpmu swthhy uwppwynpmdutipny Luwwhmjh
unuhpnphugh Juhwynpnmd U SCADA wjwjutinh hmuuyh opundw-
hwdwlunpgh mbnunpnud | Unuhpnphugh hwdwlunpgh nwljupupnud, k).
ubipnpmd tutipghugh
5,028.6 98.6 rttnbunmt b
huwpjumiun
dwupnulh
pupapugnud:
Uninuh hudwjuph puypwyyud “+-273ud L-400 qod Yuuywhniyh
h1o | <<Upmupul>> utipntintiuwghn guiigh Utnunwilju funnnjuljuawph 9.445.8 187.0 Uninuh
‘ 200 Ytipwnpngnu thnfuwphtinid inpm] i ‘ hunfuyuph 150 hw
hnntiph nnngnudp:
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Yuyyuhnyh

Uwhunwly hw-
Snutith, Unhnwth awpu | - & 2pipndtjuwthiuiut twjuph 45 hu,
with b Cwppwgyninh uwppwynpaufutiph, 250 g 2pwptiu hudwjuph
320 Yyw pwpdhgutiph, 8'vU 400/210 6,039.4 118.4
wyniyuljuwywuutiph 59 hu i Cwppw-
Jbputinpngnu wnuiybph Ybpwunpngmd b UNDU i, hunfuuph
220 | <<%bwhl>> 200 70/80 wynuwh atmpptipnid 39 hw hnnbph
nnngmup:
Uuhpwdbywn | yipuunpngty Yuyyuwhnyh
Yuptwonh nynijinh d=400uud L= 80qod nymytinh 2.500.0 50.0 Luiptiwonh
Jtipwunpngnd puwjpwjjud dhnmwunulju U ) huduguph 50 hw
funnnywljuywpn: hnntinh nnngmup:
4 huwn Kntjuu N 1.2, Uypmu-&naljuiuN 1 Yuwwhnyh
wyniyuljuwywuutiph Cunnh yndyuwluwjwuubph L. b &naljuu, Ujpnid,
Ybpwunpngnmu hhnpndbfuwuhuluu Cunn hundwyup-
291 <<Lnnm uwppwynpnidutiph ypwunpngnid, 8.000.0 160.0 utinh 476
| opwiugp>> R0L Jupquptipnid AR ’ onogunwi-
gnponnubiph 1302
hw hnntiph
nnngnuip:
Yuyuhmjh
Gnwunuh,
b, i,
Upunith L Smnuptiuh,Uunnuénph, | yndwwluwywuutiph K. L inllll w 11,
222 | =5 slzlo o > | Qppugnnh b Onyhtwph | hhgpnubfuwthyulwt 19,525.2 388.0 Unlqh%ulph
w/Juywuutph Ybpuw- uwppwynpudutiph ybpwunpngnid I
anpngmu hunfwjuputinh 4930
gpoguwuignonI-
ubiph 1264 hw
hnntnh nnngnudp:
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Uwuwuh wnm 9pwugph onpwiugph hnnujht hwwnyjwoh Yuyyuhnyh
Jtpwunpngnid Ytpuuugunud -530ud opwiugph holutiwu
dbnmunulju fjunnnjujuywupny il qunn
Jwnuptiu b Uwp-
nniuh - hunfwyup-
21,000.0 360.0 tubip 3587
onoguu-
gnponnutinh 500
hu hintph
nnngmup:
wniywuwjwuutipnid swathhy uwppwynpmdutinny Yuuhmjh
unuhpnphugh Juhwynpnid U SCADA wmjjujutiph hmuuyh opuniw-
hwdwlunpgh mbnunpmud | Unthpnphugh hwdwlupgh nwljupupnud, k).
utinnpnid Eutipghugh
9,195.3 180.3 rnbunt b
huwpyqupiwu
Uwjupnuih
pupdpugnu:
(W-IV pudwuwpwph Yuyuhnyh
Ytpwunpngnud 2pytd b Anp-
1000 L-1500 god  dtmnwnujun 7.000.0 138.0 wnpniph wdw-
funnnuljuywiph nbnunpnid AN ) nwungutiph 20
hw hnntiph
nnngniup:
Ununuygph opwiugph pniutgh 1,6 U impuiwswthh Yuyuhmjh
<<pytid- gqiuutiwuughu prutgh Ulinunujuu fjunnnjuyjh Ypupughu 6,500.0 128.0 hmuuyh opuniw-
2.23 Anpunpnips>> Ytpuwiunpngnud hundwoutiph Yhpuunpngmu wnwjupupnud:
200 QAnpunpniph (k-2 Qnpunpjniph (-2 pudwuwpuph Luwwhnyh Qnp-
pwdwuwpwph b Aunuhh | 150U L-300 qou junnnyuljuywuph wnpnip hwduguph
2 nnnquwu guugh wntnmunpnmd b Munnuhh 2 nnngdwu b ‘Lninunuh wygb-
Jtpwunpngnid guugh Yytpwunpngnmud 3,000.0 0.0 gnpowljuu  wnw-
nwoph 864
2pognuugnp-
onnutiph 57,6 hw
hnntiph nongnudp:
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2nyph 29/4-h, Yudwphuh
fu/h-h b Rpwpbiph 9/4-h
L1.2wpdhsutiph
thnfjuwphumud

2nyph 29/4-h, Gudwphuh fu/h-h b
2pwptph 9/4-h £.pupdhsubiph
thnfuwphunid

7,480.0

144.0

Yuuquthnyh
hmuuyh opuniw-
nwjupupnig:

Anpunpniph b Lnyph
funppuyht hnptiph
Jtpwunpngnid

Ypwpwo 2 huwn E84, 10-63-150
wnudwbph thnjuwphunmd unptipnyg

6,100.0

120.0

Uuwwhnyh
npunpjnip,
2pytd b 2nyp
hwidwjupubiph
355 gpoguui-
gnponnubiph 55
hw hnntiph
nnngnuip:

wnuyuwlwjwuubpmu

unuhpnphugh
huiwjupgh mbnunpmyd

swthhy uwppwynpmdutipny
Juhwynpnmd U SCADA wjwjutinh

uUnuhpnphugh hwdwlwupgh
utinppnid

2,080.8

40.8

Uuywhnyh
hnmuwih opw-
dwwnwljwpupnid,
Ly Eutipghuyh
wnumntiumd
hwyyupluuu
Uufuprwuh
pwpdpwgniu:

<<Gnupn>>
2.24 200

Enyupnh gymnunthgyui
pwdwuwpun b
Unquptiuh MY-4

pwjpuwyywd 1800 qdd tpyupnipjudp
puwdwuwpwpubph wnwudhu
hwwnyjwoutinh L-300gou
Jtpwunpngmu vnunjhwn ptitnnuny b
dbnwnuywu fjunnnjuljubipny

5,700.0

110.0

Yuyywhniyh
Enyupy hw-
dwyuph 727
nognuagny-
onnutiph 41,5 hw
U Upquptiu
hwidwjuph 143
gpoguugnpdnI-
ubiph 167,8 hw
hnntiph nnngnudp:
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Uuywhnyh
pwjpuwyywd 1500qou tipjupnipyudp Lwtwptnuyjuiu
Luwtwptinuyjuuh MX-1 puwdwuwpwnph wnwudhu 4.600.0 90.0 hwdwjuph 573
pudwuwpwp hwwnyjwoutinh L-300qou SRR ) onogumwuignponn-
Jtpwunpngnid dnunjhwn ptiinnuny ubtiph 452,2 hw
hnntiph nnngnup:
opuqdh puypuyywd ptnniwghu ;ﬁ%‘ﬁ? e
Mnnyjuuh BX-4 wnwudht hwnywoubtiph Yybpw- hundujuph 550
pwdwbwpwph unpngmu Ununjhwn pnnuny, L(k-40 5,400.0 106.0 opoquugnponI-
Ybpwunpngnmu Juptinny b dbnwunujuu Yhuw- ubph 82,65 hw
funnnywjutipnny Unwn L-200 q&d hnntiph I,mnqm p:
Yuwuwhnyh 2n-
yniuph  hudwyuph
791 opoqunwi-
Onyniunt U Fhnudbgh 1100-300ud L-320 gou hwunjwioh gnpoénnutiph 80,2
bbb, punuiuutp Jtpwunpngnmd dbnwnujuu 5,000.0 96.0 hu Snundty
funnnyuljutinny hwdwyuph 443
2pogunwgnp-
onnutiph 66,4 hw
hnntiph nnngnudp:
Uwywhnyh
pnnuwghu 9pwugph L-1100 qou Enjupn hw-
EnJupnh ubipnunbtuwght | Gpupmpjudp pujpuyJwo udwjuph 100
225 | <<Luhph>>ROC guiugh yipwunpngnid hwwnywodubiph hwwnwyh b pbytiph 16,5021 3235 onpoquwgnp-
phnnuwgnid onnutiph 100 hw
hnntiph nnngnudp:
Chpunu-Githhu hupuwhnu 9pwnwph T
unwn 300gdd hwnywdu wugumu § Nhtn, 2pu,
<<bliquwénps> | Chpunu-byhh fuptwhny | 2U0RY Ynnnghnt gpotunttinny, Upbiuh, fuwghy b
2.26 200 opuinuph Ybpuiinpngnud hush yuwmawnny funnnyuljutipp 14,165.0 288.7 Guphtt hutugup-
pwjpwyyt By, nunh wuhpwdbyn ubph 800 hw
thnjuly 630U L-300 gou hnnbiph nongnuip:
dbnmwnuljuu fjunpnjuljubipp: )
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Uuywhnyh

Snphu, fJunn
Luwpwhniuy
<<[Ipnunwi>> Lupuhniugh gputpwiph Lwpuwhniugh spwdpwph Unntigunn hudujuputip
2.27 200 Unwntigunn opwugph wligph MU44+10 Japuiunpngnud 4,150.0 81.4 628 hw . 190
Jtpwunpngnid aruigp. fbinpng onogumugnp-
onnubph
wjghutiph
nnngnmup:
Uuywhnyh
Upwpu-1,2, Yupahwt-1, Utinph-1,2,3, ‘Unuwanp, Cyw-
Uuup-1,2, UpJwpl-1, Cywuhanp- tuhanp, UpJwlp,
16 huun yndyuljuywu- 1,2, Cwhwénp 1, uymywunh 1,2,3, Utinph b Uqu-
utiph U 2 hwwn junppughu | Pinpunmqh w/Yuywuubph, 30,000.0 500.0 nul hwdwjup-
hnptiph ytpwunpngmd Uqupuwyh ju/h, Uduuph ju/h B b utiph 441 hw
hhnpnibfuwuhujuu vwppw- 1060 9pogqunw-
Ynpnudutiph ypuwunpngnid gnponnutiph
nnngniup:
2.28 | <<Utnnph>> RKR0C Yuyuhnyh
Upwpu hwudwjuph
Upuwpu 1l tupgliud 2 hwin 8 1000-180 wmiutph 60 hw U
wnuiwwljuyuiutph HRUUER 5,000.0 98.0
atinpptipmu b nbiunpmu U ) Yuipaliw
Jtpwunpngnud
hwdwjuph 15 hw
hnntiph nnngnudp:
Yuyywhniyh
Hwpdliw phy 1 0273 L-150g0U puyypugywd Guipslut
wnuyuwlwjwuh 2,500.0 48.0
Jbpwiinpngnud funnnjujupwph thnfuwphumud hwdwyuph 15 hw
hnntiph nnngnudp:
Uuwwhnyh
Fnuwlnph
<<Uhuhwt>> | Antwlnph nonguw Pnuwnph nonguui guiugh “-100 - hunfwyuph 270 hw
2.29 325 ud L-2500 gou tipupnipyjudp 15,000.0 294.0
0] guiugh yhpujuugunid 1 300 9poqunw-
funnnujuywph Ytpuuugunud qnponnutiph
nnngniup:
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Guwuwhnyh Lot
onwqdh “H-150ud L-600U hwdwjuph 14.4
hgh“ﬁ;“ﬁqmu guugh il funnnywlupwph 5,000.0 100.0 hw U 62 opoquw-
FHHARRG Ytpwunpngnid gnponnubph
nnngnup:
Lwyuph N 1, UpGhu-Cunnh N 1, ggpwm“‘&ﬂ‘lh
Lalwanph, Cunputwlh N 1, a £“m s,
Lhypnu-Lunpwuwlh N 2, fl~mﬁi Cw’ -
8 hun wniuuluyuigh | AW wiuh N2, Sndtnh b tuly g’h E”E-
MUY PuquwunhGut N 4 wmiujuw- 26,000.0 500.0 > U
Ytpwunpngmud uutiuh Jwl, Upbhu,
Jwiutitiph £l
Cunn “Fanawjuu
hhnpnibfuwuhiujuu vwppw-
Unpnudutiph Ytpuinpngnud hudwyuputiph
530 | <<Umbptpui> qu " hp . FAHREIRGALE, 1000 hu
’ 200 PetpHp nnngniip:
wniywuwjwuutipnid swathhy uwppwynpmdutinny Yuuyywhniyh
unuhpnphugh Juhwynpnid U SCADA wjjujutiph hniuwih spudw-
hwdwlunpgh mbnunpmud | Unuhpnphugh hwdwlupgh nwjupupnd, L.
utinppnid Lubipghwyh
10,291.8 201.8 b b
huwpyupuwu
Uwlupnulh
pwpdpugnu:
Zhu “bwpdw opuiugph (Gndwuywuh
Zhu bwpdw 9pwugph wujuwu wygnt Ypupjwd hmnywoh Hwwuihnih
2,000.0 40.0 hniuwh opudw-
Jtpwunpngnid L-100gou tpupnipjudp -
Jbpwunpngnid: uwlupupnud:
231 | <<bBplwu>> K00 Yuywhnyh
‘blippht Quppwjuh N 1 ‘Utipphtu
junppuyhtt hnph ;nhfilpﬁié Qwﬁp‘;‘hi‘ dN Hunppuyht 2,000.0 98.0 Quippuijup
Jtpwunpngnud I ptinpng numbunipju
40 hw nnngnidp:
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Uuywhnyh

Ohotmuwjuptinnh Ohotinbwuptipnh wyndwwuwywuh Cuyyng ghinuuww-
wnuyuwlwjwuh pwpan jupdwu L-350q0d L. 1,200.0 50.0 unipyuu pwu-
Jtpwunpngnid uumguwu ybpwunpngnid qupwuh 100 hw
hnntiph nnngnudp:
Yuuywhnyh
Ownuyuly,
Lwpuqnifu “Nwunw- Lunpugniju-Nunwjwpwn Juwpuquyuu b
Jwpwp opunuph huptwhnu spumnwph Yypuunpngnid 2.000.0 40.0 Nunwywpun
uunignn funnnjuupwuph | =250 L=200 qou dbmmwnuljuu U ’ hwwjuputiph
Junnmgmu funnnyuljuywpny opwwwhn-
232 | <<Nhwhp> K00 Ynipju
pwpipugnu:
opwqoh Junmgmu 100 Uuywhnyh
LR IURURR WIRMAED |yt ppy by funnndiutpng Llapht Gupuhp
spuunwupupiul L-200qou 1,500.0 30.0
funnnuuuph I P00 ' wnpymph
Jbpunpngnu hundwjuph 25 hwu
nnngnup:
wndyuluwywuh 320 Yywm L.owupdhsh Yuuywhnyh
Ujuwnpnip-Lntuwénn Ybpwunpngnud Ujuwnpjnip b
wnuyuwlwjwuh 1,000.0 18.0 Lniuwénp
Jtpwunpngnid hwdwjuputiph
233 | <<bolmu> 0L 150 hw nnngnidp:
2puwugph 5.5 Yu tpyupnipjudp Yuuywhnyh
Atippwpbph gpwiugph puypwyjuo L+-40 b LI+-60 8.000.0 160.0 Blppuptip
YJtpwunpngnud t/ptinnuyw Jwptiph ybpwunpngmu e ’ hwdwjuph 50 hw
nnngnudp:
Shnuppniuhp N 2 b Lwuownpjnip
Sh%wppnm]lpl\ll\lf u N1 Qp;ldpwphhhpmdh}illmp&ihhgph e~
234 | <<Qujuns> Q0p | "WHSHIRINE wundwnn wtinh Bu nutund oph 4,300.0 82.0 hnuwyh opu-
spwdpwpubiph utid Ynpniunutip: Uhusl nnnguwu .
Jtpwunpngnd utignup hwpwuhutinp wnp £ '

Jtpwunpnqytiu:

15_0182




19

Uwpnijuwt hwdwyuph we | Uwpnijuwn hwdwjuph wy Gynin Yuuywhnyh
tynin opwugph opwugph Ypwpuyhu hwnjwdutinh 10,000.0 200.0 hniuwih spudw-
Jtpwunpngnid Ybtpwunpngnid nwjupupnud:
wndyuwlwjwuubpmu swthhy uwppwynpmdutipny Yuwwhnyh
unuhpnphugh Juwhwynpmu b SCADA wyjwjutiph hniuwjh opw-
hudwjupgh mtnunpnud | Unuhpnphugh hwdwlwupgh dwwnwljwpupnid,
ultipnpnud L} Futipghuyh
6,660.6 130.6 ntnbuntt L
hwoyupdwi
Uwfupnulh
pwpdpwgniu:
6 hwun junppuyhu hnph 6 hwwn E84, 10-160-65-3hwwn, Yuwwhnyh
Jtpwunpngnud E84.-12-255-30-1hwiwn, B84, 12-255- hniuwih opw-
30-lhuinn b £E84, 10-63-150-1 huin dwwnwljwpupnid,
funppuwyhu wniwbtph Uty Uwuphymu
2.35 <<‘{”£g}guhu> Jtpuunpngnu, Ukd Uwuphymd' 3 6,000.0 120.0 60 hw, dLwp-
hwwn, dwpnbthunud 1 hwwn b ntiuthunid 20 hw,
Cwnjuiumy’ 2 hwwn wyndwbiph Cwnywunid 30
atmpptipmd b mbinunpmd hw hundwjuputiph
nnngnuip:
Yunumunh opudpwph nnngiwu oph
Uwntununh spunipuph U utiphu pugpnnuwu thwljwuh b hhnpn- Yuyuhnyh
Chpuibh spuiigph 26-pn wntifuuhjujuu vwuppunnpmdutiph Uquunuu
2.36 | <<Chpul> R0L Ytpuunpngmu b £26 dhgmnumtuughu 12,000.0 240.0 hwidwjuphu
pwdwuwpuph
n i pwdwitiwpuph NY 183+87 - MU193+38 hniuwih opw-
dtpuiunpngn puypuiwd ptanntughi hunyudtph wnulupupn:
Ybpuwunpngnud
Cunuiliip’ ROC-ulip 852,853.4 15,396.2 14,288.2

3. Nnnguw hmiwwpglpnid hppwnwy jmému yuhwyny woluwmwuputip ( <<bGwyhww] ppudw)unphutip Wyhnwuu b hwdwjupwyht winbwmpughu
juqumytipynipymuutphu>> hnnjwdony)

31

<<Ulli-
Lpuqnuiuyw-
spun>> PLL

2nnuqh spudipuph
hphqughn gpunnwiph
Jhpwunpngnud

hphqughnt gpwnwph b thwljwuuh
Jtpwunpngnud

20,000.0

398.0

bwywhnyh
hniuwh opudw-
nwljupupniy:
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Upquh Cwdhpud gpuiugph | fuquiunpniph wyytnniyh Yuywhnyh
(Puquwnpmph wytmmyh) | pmnuwght hwmngwodubtiph 35,000.0 1421.0 680.0 hnuwh opudw-
Jtpuunpngmu Ybtpwunpngnid nwjupupnud:
Cunudbup’ ®LL-ulip 55,000.0 1,421.0 1,078.0
LVvHrUUGLL 2US U P 1,000,000.0 18,257.2 16,847.9

15_0182
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«cUBUUSULh CULNPUNESNM8UL 2015 (I UYU LR NESULUUL A3NRER UUUR L
cu8uusSuUuvh AULMUNESNRe-8UL ONGLRR N 14U GLULUONRU GUSU YN,
JEPUAUCIUNNUTL B, CUSUUSULE AULNMUNESNMG8UL YU UNMNG8UL 2014

Cutqyuo N 2
< Junwywpnipjuu 2015 pywuluuh
hniuwuph 30-h N 182 - U npnodwi

(G UUULh YEUSGURG R 18-h N 1515 -U (IMICUTL N 5 UYL BLYUONRU
LuSurd N eNPNuNMMF8NRNLLEPR

(hwg. npud)

Pwidhup
funuipp

Thwup

Amotiinuyhu dwluubiph gnpdwnwluu
nuuwupgdwu pudhuutiph, fudptph
U nuutiph, Phuwvuwynpynn
opugptph b npwiip hpwljuiwging
dwpuhuutiph wujwumdubpp

8nmiguiuhputiph thnthnjunipiniup (wytjugnmdubpp
upywo tu npuljut wpwuny, hul Wjwuqhgnuiubtipp'
thwljugotpnid)

wnwohu
tmwudujuly

wnwohu
Yhuwdjuly

huu wdhu

wmwph

LUV HIUtLL oUlvUeH

0

0

0

0

wyn pymud’

SuStululy
CUNPULGPNRNGB8NNLLER

wyn pYmud’

02

Fyninununtiunpynu, wumwnuwhu
munbtiunipjniu, djunpunpiniu b
npunpnnipjniu

wyn pymyd’

04

Nnngmd

wyn pynud”

05. Nnnguwu hwdwljupgtiph
hhduwunpngnmu

£4 gyninuununtiuntpyuwt twjuwpu-
nnipuu opuwyhu mumbunipjuu
whmwluu Ynihnb

- Quiyghuwy npudwyunphubn winujuiu
U hwdwyupughu winlunpuyhu
Juquuljtpumpmuutiphu

55,000.0

55,000.0

55,000.0

55,000.0

- Uy Yuawghunuy npuadwgunphubn

139,560.0

469,853.4

646,853.4

852,853.4

Chiuptiph b ohumpymuutiph juwhwmuy
Jhpwunpngnud

(196,000.0)

(526,293.4)

(703,293.4)

(909,293.4)

-Lufjuugdwhbimwgnuuju dSwluubtp

1,440.0

1,440.0

1,440.0

1,440.0

cUsUUSULh CULMUMEGSNRGFBUL

GUAULUMNRR8UL UCuUSUUULUD

15_0182

asulddur-vdrourur

. AUPNRNF8SNRLBUL




Cujtqyud N 3
< Junwywpnipjuu 2015 pyuluuh
hmujwnph 30-h N 182 - U npnpuwu

«CUBUUSULh CULNPUNESNRGF8UL 2015 (L UUU LR NESULUUL A3NRRER UUUR Ly AUSUUSU LR AULAUNESNNMF8UL
OP6uLh N1 AdUJBLYUCh N 13 UN.3NhUUUNRUT YUSU YN, L EPURUCNRUL

(hwg. npud)
Amytinuyhu 8mguuhputinh thnthnjunipjniup
owfuutiph =1 (wytugniubipp updwo bu npuljui vywuny, hul) WJwuqbgndutipp' thuugotipnid)
gnpéwnujuu g punudbun' ny wyn, pymd’
nuuwjupguiwu 3 dhumvuwmjuu
< Upmqph{l‘h hhuuldﬂmnnhhph wljnhyutiph Sbptiph U Sbptiph U twuwqouht- ny phuw-
g8 g ? wyjuiinuiuting qony dwluutip | ohumpjmbtbph | shumpmbttph | wwqnnulu, uwlut
S | E 3 =X ohiwpupnieinia Yuwghuug qtinntighwpwp- | wlmpjutiph
?i = = B Jbpwunpngnud nbqugpuju qony wyp
wpfumtwiuputip owfuutip
LVHUUG LA (907,853.4) (909,293.4) 1,440.0
wyn pynuf
£< +3Nh1 USULSEUNRG8UL
vl r,nng-8Uv R0AUShY (909,293.4) 1,440.0
SuLSEUNRE-8UL MESULU'LY UNUhSE (907,853.4)
wyn pynuf
04 | 02 04 |05 | Nnnguwu hwdwlupgtph hhduwunpngnud (907,853.4) (909,293.4) 1,440.0

15_0182
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Cuytqyud N 4

< Junwywpnipjuu 2015 pywuluuh
hmujwph 30-h N 182 - U npnydwiu

CUsUUSULh cdULMUMNESNRF8UL WUNAUYUNNRF8UL 2014 (odUUWU Lh
QBUSGURG D 18-h N 1515-U NMNCUUL N 5 CUYGLY UoD N 12 U 3NhUUUNRU
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